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Compter Network Assistant code Level 1

Q 1) A double word comprises of how many binary digits?\Uch ST R[eg T foba SR
3/ BId 87

1) 16

2) 32

3) 64
4) 128

Q 2) If the requested data is already present in the cache memory, it is termed as:\Tlg

SFRITEIA SeT oh=T AUR H Ugdl ¥ HING ©, 1 39 H5T ofldl g

1) Golden Cache\TTeS 1
2) Cache Gain\&h =T Y

3) Cache Hit\db T fee

4) Soft Cache\TRH BT

Q 3) Which of these printers print one character at a time‘?\g:lﬁ I ﬁt{ a7 fiiex Udh JHY o
TH 3HeR flie Hrarg?

1) Laser Printer\CoR fa—ﬂ

2) Dot Matrix Printer\8I¢ ﬁﬁ?\q fiiex
3) Inkjet Printer\§®oIC ﬁlﬂ

4) Drum Printer\gH fiex

Q 4) Computer programs that make use of mall services to spread qulckly and harm the
computers are known as?\d X uﬁum\‘rﬁ CdRCI =Y Y B 3R g HER Cal RCASIE!

q@ﬂﬁ%%ﬁﬁﬁ@?ﬂﬁrmmﬂ R &, 3 ST Il 82
1) Trojan\_@ﬁl:[

2) Firmware\
3) Worms\a&
4) Zombies\SHaT

Q 5) Which of these was used to program the first generation computers?\%qﬁ I 1 Ugan
Uigl & e I MUTH B o U SXAATd fohar T 412

1) Assembly Language\@lﬁa?ﬁ RIS
2) ASCII code\ASCII

3) Machine language\q‘\’ﬂ:f GCE]

4) Mid level language\H& TR U

Q 6) Which of these terms is used to refer to the host s own IP address?\HSIET & tgqu 1P

TSY & Yeffd & & forg 370 O 1 1 eq SUTNT T STl 82

N

1) Link Lock IP address\fcid @l 1P Uoxd

2) Loopback IP address\qUsd® [P TSH
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3) LocalLink IP address\@ehd fofdh 1P Q\%H
4) Whiteboard IP address\®IQCdlS [P UsH

Q 7) File transfer protocol 1S ass001ated W1th which layer of the TCP\IP protocol\thIg<]
QIR Wb TCPIP Ueidhd &l I It Rd § VS 5'3‘”%9

1) Internet layer\_é?@? ud

2) Transport 121ye:r\§'m'l:n_<.F ud

3) Application layer\Q'Tﬂm:f Wd
4) Network 1ayer\e|35|$ ud

Q 8) Which of the following is not a image editing software \FE T P I BfA gUTG-
(image editing software) '_'|_69f %‘7

1) Corel Draw\®Rd ol
2) Photoshop\m'-‘lﬂ'q

3) GIMP\GIMP
4) WinZip\WinZip

Q 9) The maximum file size that can be send as attachment with an email using GMAIL ?

\SIHAH BIA HTHR ST GMAIL T T FRb SHA & AT HIAIDH & =0 8 Tl
ST el 82

1) 8 MB

2) 15 MB
3)25MB
4) 40 MB

Q 10) Which of these is stored in Floating point representation?\g:iﬁ DI T T
Uisc o ¥ H GUGId [T STl 52

1) Real Integers\m U;UW

2) Imaginary numbers\HTUPH T
3) Boolean numbers\q%l'q:[ RiRed)|

4) Whole numbers\m

Q 11) Cache memory acts a link between:\w TARY Tdh NEACARE RG] % I
A

1) RAM & ROM\RAM 3R ROM
2) ROM and Hard Disk\ROM 31X 8T8 f$3%

3) CPU & RAM\CPU 3R RAM
4) CPU & Hard Disk\CPU 3IR 8T8 &b

Q 12) In which of these CPU scheduling method each process is allocated a fixed quantum
of time and once that time is over another process starts 0perat1ng7\$7|ﬁ J o %ﬂtﬂq
(CPU) Rrsgfe fafd §f udes o1 o) v Afdd vy srdfed foar Srar g 8ik

1) Shortest Job Next\QIc ¥ SIId Aae
2) FCFS\FCFS
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3) Round Robin\RT3S e
4) Priority Based UTUH& AT 3TemRd

Q 13) The maximum number of characters permissible in the domain name isNSTHA

e|'1:[(d0main name) T 3rfdpdd fobdm 31eR Epf b %?

1) 63

2) 127
3)253
4) 255

Q 14) A nibble is equivalent to how many bits?\Ud 9 fa fae & SRR %?

1)2
2) 4
3)8
416

Q 15) What is the purpose of DNS naming system?\DNS "TH$H U JUITc! T B%QZI T %?

1) Converting IP address into domain name\IP Q@g ®I S8 =1 ¥ uRafad s

2) Changing the real IP address with a temporary IP address to provide security\{X&{T UGl

B & o U SRUTT [P TS & 1Y aRATAS [P TS B! dg el

3) Converting Domain name into IP address\SIH I8 &I IP Q%H T HaC Bl

glznlﬁing same IP adress for different URLs\US g IP @ﬂ DI 3T 3l URL o ferw
Pl

Q 16) Which of the following is not a file system used in Windows operating system‘?\ﬁ'ﬁ o

Y B IT Windows ATRIET RRed & IUANT 1 &1H aTell Bhigd Red 781 82

1) NTFS

2) FAT 32
3) FAT 16
4) FAT 64

Q 17) Windows is an example of :\Windows HhIUbh 3l %2

1) Application Software\QLmnIa){-H RIRCR

2) System Software\RIeH Altedy

3) Compiler\

4) Free Domain software\gUd SIHH JIFCATR

Q 18) Which layer of the TCP\IP protocol architecture makes use of address resolution
NN v o~ EN N . ¥ NN v
protocol? \TCP\IP HIC[PhTc] Hl[h e P DI U URd Jox RvlleyXIH HicIonldd WW

H 87

1) Network layer\m d

2) Transport layer\a:m'l:h_cF ud

3) Application layer\Q'Tﬂw:f ud
4) Internet layer\gfﬁf qrd
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Q 19) Which of these protocols is associated with email?\'i"lﬁll Y P T UICIhId $TIQ1 |
ST 53T &7

1) FTP
2) OSD
3) SMTP
4) EMTP

Q 20) Which of these protocols deals with finding MAC address from IP?\%qﬁ J DA
WD [P W MAC TSY &1 Udl T & T ]2

1) FTP
2) ARP
3) SMTP
4) OTP

Q 21) The main page of a website is known as page.\w ad{-llac DI HOH K|
W HEIHAIRIS@G

1) base\S

2) home\8TH
3) Zero\STRI
4) blink\fedid

Q 22) What does the letter F stands for in FTP?\FTP TF &l EI;UT U R %‘?

1) File\WT3d

2) Full length\§ el oy

3) Flexible\tRifoaaat

4) none of these\SIRIG & T PIg g

Q23) % is unit to measure the speed of a CPU.\Uch CPU P T DI AT B E_CFI—EE
I

1) Megabytes\'va"TTEIT_SPE.r
2) Pixels\

3) HertZ\BCHl
4) Seconds\HH S

Q 24) Which of these is not a type of Cloud Computing Serv1ces‘7\$"|4-l [ DI T T3S

Hefe Yaraii BT UbR el 82

1) Infrastructure as a Service\ W AEERSUE RG]
2) Hardware as a Service\ AT & =0 H E!'I%%TIT

3) Software as a Service\¥dl & ¥U H JireddR

4) Platform as a Service\ddl & =0 H A

Q 25) Modem speeds are measured in terms of \HieH T & W’%ﬁ |
A1 S 5
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1) MBPS
2) MHZ
3) BPS
4) Volts

Q 26) An IP address which belongs to class B has the first two bits in the first octet set to

\JUft B & 1P TgH & U Sfidbec & Ugd 2 fae fham de 35d &

1) 00
2) 01
3) 11
410

Q 27) TCP\IP has layers.\TCP\IP & RATR B 3.

12
2)4
3)5
4)7

Q 28) The process by which any process requests a specific service from the operating

system is known as?\%mm%mﬁémaﬁﬁﬁﬂﬁwﬁmew
SIRIY BT §, DI HaTHd DR P (o8 e T 82

1) Booting\@’[

2) Functions\traR=T-

3) Stored Procedures\ TS UIRITOIR
4) System Calls\RIeH ®id

Q 29) The core of an operating system is known as?\Uch SR e & Sy &
oy ATH & ST STl 82

1) Denim\SfHH
2) Kernel\&@-d

3) Crust\eh¥c
4) Sector\¥aex

Q 30) Which of these circuits is used to convert binary data into decimal \STSRY ST &I
R § 950 & TE 399 3 food widhe &1 I9anT fopan ST g2

1) Code converter\®I§ HACI
2) Multiplexer\ Hee QIR
3) Coder\® I8

4) Decoder\SIhTSR

Q 31) A firewall is installed at the point where the secure internal network and untrusted
external network meet which is also known as A3H ﬁl’g’ U Uch Toryrdle]
T e o § w8t W& 3iiaRes Fead 3R e aedt Aead e §

1) Chock point\dId Ulse
2) Blank point\% gigc
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3) Firewall point\tTaRaId UlsC
4) Scope point\E’ﬁq CIE

Q 32) A proxy firewall filters at?\Udh YT BRRET fhy TR TR fheex Bl 82

1) Physical layer\'l-ﬁ% d
2) Data link layer\{Jd-T Ml Ud
3) Network layer\m d

4) Application layer\Q'Tﬂm:f Wd

Q 33) Which of the following is the first web browser \FH H I P T Ugdl 39 TSR
&

1) Mosaic\HISTA®H

2) Nexus\

3) Netscape Navigator\ﬁ?@?q Afatex
4) Internet Explorer\_‘éf?ﬁ?_r Qﬂi“fﬁ“

Q 34) HTML is used to create :\HTML &I TR $I g | gl %’

1) machine language program\'J:I'-‘Zﬁ:[ GCERYIDIE
2) low level program\ﬁ'ﬁ TR T

3) web server\dd o

4) web pages\a_d Usl

Q 35) Internet uses :\s??ﬁ_c’ m hdl %z

1) Packet switching\a% e
2) Telex switching\éaaﬂ TSR
3) Circuit switching\ﬂﬁﬁ' SR
4) Data switching\SICI EeER]

Q 36) The packets of an internet message :\U® § eI AG & am:

1) take a predetermined path\qjﬁﬂf&a Ty oid %

2) take a path based on packet pnomy\a% RIadT & SITIR UY <Y hd %

3) go along different paths based on path availability\UY Ul & YR W faf¥= gui
1 TG P &

4) take the shortest path from source to destination\®Id I Tdad I Ty BleT IRGT od %

Q 37) By an intranet we mean :\3. EAIEIE I BH HI ﬂtlgl?f %‘?

1) a LAN of an organization\Ud I& b LAN

2) a Wide Area Network connecting all branches of an organization\U®h T3 CHESEN |
RATSHT &) S 1T a1s S TRAT Aeddh

3) a corporate computer network\Udh HIANC O'bl-ld\(i{ Scdd

4) a network connectlng all computers of an orgamzatlon and using the 1nternet protocol\w
6 & Gt et Y s 3R Sexe UeIbId BT UGN HRA aTdl Hedd
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Q 38) HTML is similar to a \HTML & , GRS

1) scripting language\w IR

2) screen editor\ &P TSR

3) word processing language\RTeg FHXHUT HTHT
4) search engine\ﬂé_&;ﬁ:{

Q 39) HTML tags define:\HTML 271 URHTRT &34 §:

1) The data types of elements of document\G¥ITAS & Al & STl YDHR
2) Presentation of specified elements of a document\G¥TAw & FIEE d@l BT Wﬁf
3) The contents of the document\GXATAS! P TTHUT

4) The structure of the document\G¥ITAS B! TTH]

Q 40) In Message Confidentiality, transmitted message must make sense to only

intended:\ <R Mu-adT #, UG e Haa aifed I GH H T A1

1) Sender\Useh
2) Carrier\dlgh
3) Translator\@fmaa
4) Receiver\UTtdhdl

Q41) FTP uses parallel TCP connections to transfer a file:\th1g ¢l CIRIBIGIRG]
A & [T FTP AR TCP HaRH HT STANT I &:

1
2)2
3)3
4)4

Q 42) What is the Linux program that receives commands from the user and gives it to the
OS to process, and it shows the output?/ IEESEIPIEE %Gﬁ BER I HHIS U Hdl %
q JGD! T BH & foTT 0S BT VSTl &, 3R I8 SHTITYL Gl 52

1) Prompt/ sy
2) Shell/

3) DOS/ 8
4) BIOS/ ST

Q 43) To know the directory you are in, what comand would you use?/ Ug S & INEAED
30 ST STARGEY B §, 310 DI HHIS BT TR Bl

1)cd

2) pwd
3) mkdir
4) dir

Q 44) What command is used to create a new file?/ :l_sc HIgd TR & 1%1? Eﬁ:lﬁ HHIS BT
AT foar ST 82

1) touch
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2) sudo
3)nd
4) new

Q 45) What network do cryptocurrencies like bitcoin use?/ ICLEAER] ot IE2UEES:] DY
Scddh BT TANT el 82

1) Server network/ IR dcadh

2) Peer to Peer network/ YR < IR Aead

3) Cloud network/ 9¢ll3 S Jeds

4) Client to peer network/ FTSC < URR Jeas

Q 46) What is the topology in which nodes are directly connected to a common linear (or

branched) half-duplex link? / S erar@ren § A1y Y T UM wfATR (@1 9i)
- i H IS Bid 82

1) Ring/ &1
2) Bus/ 99
3) Star/ ¥ICIR
4) Mesh/ A1

Q 47) Which of these would be suitable for a gaming event viewed by a live audience?/

STH 9 D 91 15 Sidiefl gR1 & S arel AT BrishH & fore Iuged g

1) LAN

2) WAN

3) MAN

4) All of these are equally good for latency/ g gt fadiear o o 99 & U ¥ e/ %

Q 48) Name the technology for radio wireless local area networking of devices. / JUHN

B ST AR WM & AeafchTT & fory debiie &1 14 ¢

1) LAN/ T

2) Wifi/ AEBTs

3) Bluetooth/ &g
4) Ethernet/ ‘s‘?Rﬁ'c’

Q49) is a private network accessible only to an organization s staff./  Ud it

Y & ol fb hael Ueb TRIT P U P forT ey g g
1) Intranet/ 3@:@?

2) Internet/

3) LAN/ O

4) Hybrid network/ BT3fSS “cadh

Q 50) is a two conductor electrical cable consisting of a center conductor and an
outer conductor, with an insulating spacer between the two. / ql Hhedex ENIESEDY|
Hd g ForH Th dg Hedex 3R gl & s Udh SYAfeT] TIR arel §

1) Fiber Optics/ BIgdX TPy

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=116 8/28



7/27/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=116

2) Coaxial cable/ m\’rﬁ Had
3) UTP/ gEiut

4) STP/

Q 51) What kind of wires are based on the principle of total internal reflection of light?/

fg THR Pt aR YT & Juf TR WRIad- & Rigid )R R gt 82

1) CATS Cable/ CATS Had
2) Fiber Optics/ ISR 3o
3) Coaxial cable/ WG‘W Had

4) UTP/ geidt

Q 52) Digital data refers to information that is/ [SISICd] 3¢ 3G THBR! BT Hefid Hedl
e

1) Discrete/ 3Iddd
2) Bits/ facy

3) Bytes/ dIgcH

4) Continuous/ fR&R

Q 53) Parameter that is normally achieved through a trailer added to end of frame is/

Rl S I P S A A TS R I T [PA WIS, a8 g

1) Access Control/ QH@? EFU'@FT
2) Flow Control/ Tl Eb_Uaa

3) Error Control/ UXX Eb_U_g?I?[
4) Physical addressing/ [EASEDS Q%i%ﬂl

Q 54) In respect of OSI model, LANs implement:/ OSI ared & gay ff, LAN o] gl %

1) Lower 3 layers/ felt 3 dR

2) All seven layers/ Jt 91d TR

3) Upper five layers/ SO U TR

4) None of the layers/ foat off iR R A

Q 55) When a router needs to send a packet destined for another network, it must know the/

%}?Wﬁﬂﬁ?ﬂ@%ﬁ@ﬁﬁ@ﬁ%ﬂﬂﬁ?ﬁ@imﬁ
|

1) Datagram/ Sc
2) Medium/ HTIH

3) Path Flow/ 1Y Gl
4) IP Address/ IP TgH

Q 56) Repeaters only regenerate strength of signals, it does not/ RUTer Had Riud &
Horge! ) Rl S R 8, 3 T8l |

1) Amplify the signals/ RTTH &I FgTd

2) Forward frame/ hH &) BRAS
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3) Regenerate the data/ SICI P Ty Iad
4) All of these/ T Tt

Q 57) A switch in a datagram network uses a/ SeRIH Aecdd | fag BT TN
AT 5

1) Destination address/ dg Qgﬂ
2) Sender address/ e @W
3) Routing table/ I3 cad

4) Header/ %?—R

Q 58) In filtering when frame is forwarded, decision must specify the/ eI | ofd 1hH
&1 3 e San &, i &1 s s =Ry

1) Device/ feareg
2) Modes/ IﬁW
3) Port/ UIS

4) Bridge/ EE]

Q59 Péotocols are, set of rules to govern/ maﬁﬁ, CARERIEGE G ]%N aay
DT YT 3|

1) Communication/ 9dR
2) Standards/ HIP
3) Metropolitan communication/ ﬁaﬂﬁ"&-{ RNEIN

4) None of these/ ST A DI a1
Q 60) The internet is a/ ICC g 8|

1) Collection of WANS/ WANS &1 T8

2) Network of networks/ Acdd| B Acdd

3) Collection of LANS/ LANS 1 993

4) Collection of identical LANS and WANS/ ¥HI1 LANS GaT WANS &1 IUg8

Q 61) Simple mail transfer protocol (SMTP) utilizes as the transport layer
protocol for electronic mail transfer./ Riua oa cI-qHR YICIhT (SMTP) sﬁ?ﬁjﬁm od

SR & forg TqUe aRR Mieidld o &0 o T TN Bl g

1) TCP
2) UDP

3) DCCP
4) SCTP

Q 62) FTP is built on architecture./ FTP IR AT TR §IT T g

1) Client-server/ Fdlgc X
2) P2P
3) Client-server and P2P Both/ d¢ilgcC TR 3R p2p i

4) None of these/ 370 I CAEEK

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=116 10/28



7/27/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=116

Q 63) HTTP is protocol./ HTTP Ulciohid g

1) Application layer/ mﬁ%m TR
2) Transport Layer/ E:Iﬂtné AR
3) Network Layer/ qedH AW

4) None of these/ EREREIERE]

Q 64) Message authentication is a service beyond/ To! ATl I W Udh a1
e

1) Message Confidentiality/ Al TGl
2) Message Integrity/ Tl el

3) Message Splashing/ RIS SRR

4) Message Sending/ ERERSE

Q 65) Internet access by transmitting digital data over the wires of a local telephone network
Y C e oo I . o -~ . ~

is provided by/@ﬂ:ﬂ'q CAIPIH Aead & dRl R fefored Ser T #xd Sex-ic

T gRT UeH a1 ST 3|

1) Leased line/ NSNS

2) Digital subscriber line/ fsforea NESEAEERNNIES!
3) Digital signal line/ f&foTee Rrd arg=

4) None of these/ E:Iﬁ I Tﬁ_sc :I%)[

Q 66) Internet works on/ 3 e R ST Har %|

1) Packet switching/ e f&aem

2) Circuit switching/ fdhe Raem

3) Both packet switching and circuit switching/ Tope f&gaq iR gfdhe Rgem g1
4) None of these/ ?ﬂﬁ | ﬁé 8l

Q 67) Which one is not a computer virus?/ DI W IRy gl %?

1) Trojan horse/ gIoi By
2) logic bomb/ NISEICES]

3) McAfee/ HHUHT
4) redlof/ XSAH

Q 68) What is the access point (AP) in wireless LAN?/ SIERES o H STy ﬁg IR

27

1) Device that allows wireless devices to connect to a wired network/ fgdls%l \_rﬁ CIRQ%CI
fSaT2d & ARYSd Jedd O Ja1 &I A ST g

2) Wireless devices itself/ Y CIRQ%CI %dli‘ﬂd

3) Both device that allows wireless devices to connect to a wired network and wireless

devices itself/ f$aTZY S AR (e d fEagH B! dRYTd Aeddh F S+ B AR <dl g 3R
g aRRfRd fgarga et &t
4) None of these/ EREIERE]
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Q 69) A wireless network interface controller can work in/ Uch OIILNCN-I '1COI0I9 $C{l-b{-l

HeleR A HH PP g

A

1) Infrastructure mode/ ébbl%gd*cli Ors
2) Ad-hoc mode/ US-gld s
3) Both infrastructure mode and ad-hoc mode/ RPTRC AR HIS G‘ﬁT US-glh s a-l:il _Ggf

4) None of these/ EEREIERE]

Q 70) What is a good way to protect your network?/ 3T Aead &l T BT 33T ANl
1 57

1) Implement Two-Factor Authentlcatlon/ GI-HR® JHTIHRT I AT

2) Review Your Login History/ 3O AT 34 %@){ Eal g-: RGEl]

3) Take Advantage of Antivirus and Firewall Solutions/ Q_Cﬁw TR dTe] JHTYTT
DI UG 3STT

4) All of these/ T T
Q71) is monitoring of computer activity and data stored on a hard drive, or data
being transferred over computer networks such as the Internet./ W Tfafafeal

3R BTS S13d W JURd STeT, T SR edd W STel BT ST g of

1) Network surveillance/ Jeadh AR

2) Dialup/ STII3Y

3) Firewall monitoring/ ITIXdIc] AR

4) DNS Server operation/ DNS TR SR

Q 72) What is Anonymous in the world of network surveillance and security?/ Jeadh

AR 3R TRef Bt g & T @ ge

1) A kind of trojan virus that attacks via DDOS attacks/ U YhIR bl a\—rﬂ JIERY Sl
DDOS BHEH & SR Sl el &

2) A hacktivist group protesting against draconian surveillance/ FoR MR & RIaw
fasle Pl U gapeliawe Tqg

3) A popular anti virus software/ Y AB g Q?of IRY TIUCaTR

4) A web browser allowing viewer s to browse web anonymously/ > 9 TR <2H Bl

d9 B ST T ¥ TS P B SFAM &l g

Q 73) Remote monitoring and management include the ability to:/ gX& AR iR Useq
¥ prgmard g

1) Install new or updated software remotely/ T YT T3S TGCATR Bl ¥ =Y |
XA DY

2) Detect new devices and automatically install the RMM agent and configure the device/
U IUHRUN BT Il TINE 3R [T 9 ¥ RMM Tole S (d B IR fSargd &1
BIPIR B

3) Observe the behavior of the managed device and software for performance and diagnostic
tasks/ TGRM SR g1 HT & fore yafid fearsd SR AiteaR &1 nfafafy &1
ftaor s

4y All of these/ T T+
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Q 74) Which of the following term is best defined by the statement:”The client sends
structured query language (SQL) requests to the server which are transmitted as messages

across the net”?/mﬁaﬁqmw:qu?mﬁ

1) File servers/ lIgd T

2) Database servers/ Seey Jay
3) Client servers/ FTgC 4

4) None of these/ E:I'Ef @ ﬁ's‘ :@Qf

Q 75) The first line of HTTP request message is called ./ HTTP 31@ ¢ I DI Ugal
ufe EARIGIN

1) Request line / Yoe ofig
2) Header line/ %GT NIEE!

3) Status line/ pres| NIES]

4) Entry line/ UC1 ATgA

Q 76) DNS database contains/ DNS Screy Yad @Tﬂ %|
1) Name server records/ 91 IR Repre g

N

2) Hostname-to-address records/ G\NC:IH-?,_::-QéH &Oblsi{-l
3) Hostname aliases/ GI¥c1H SU-TH
4y All of these/ T T+

Q 77) The DHCP server/ DHCP JdR

1) Maintains a database of available IP addresses/ SUcI&Y 1P Q\%H CARCTARLS| JHTY 3G d] %
2) Maintains the information about client configuration parameters/ ENIEE BIBIRRH
IRTHICY & SR H TSR S 191 §

3) Grants a IP address when receives a request from a client/ FTgc ¥ Reve v o=
T 1P USY UfquTied R 8

4y All of these/ T Tt
Q 78) In cryptography, what is cipher?/ IEgupieal ﬁ, R o %‘?
1) Algorithm for performing encryption and decryption/ W IRfAPIETHTAF forg

2) Encrypted message/ W@H S

3) Both algorithm for performing encryption and decryption and encrypted message/

Heae 3R fapied B & fou teien 8k geafed Aaw
4) None ofthese/gqﬁaaﬂéﬁ

Q 79) In wireless LAN, there are many hidden stations so we cannot detect the/ aRRfed oA

H, 33 fBU gu R g € o gd &1 Ul g1 A |

1) Frames/ prozes
2) Collision/ ChRId
3) Signal/ Riyd
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4) Data/ SICI

Q 80) In this topology there is a central controller or hub/ ¥ cIUrdiol H# Th b
PR UGS BIalg|

1) Star/ ¥I€IR
2) Mesh/ TT
3) Ring/ T
4) Bus/ 99

Q 81) Which logic gate output is true if both inputs are false?/aTS GIHI *TIC g % GICaEEl
7 P 3T3eYC W gIdl 82

1) OR Gate

2) NOR Gate
3) XOR Gate
4) AND Gate

Q 82) Johnson is said to be the father of the ST B DT SHbh el
AT g |

1) Hard disk /8TS f&¥&

2) Floppy Disk SICIREES
3) Pen Drive/O- glkd

4) Memory

Q 83) How many bits are there in a ASCII character?/ASCII OI;QOICQ f[ iahd'q fae _@?f %?

1) 16 bits/16 fae
2) 8 bits/8 fae

3) 24 bits/24 fae
4) 12 bits /12 fae

Q 84) Which factor is used to decide the number of display colours? /e 3 Bt T
T HRA & (oY ford HRS T ITANT o Al &2

1) Number of bits associated with each pixelfm A @ foe ot T
2) Number of bits code lines with each pixel/STd® fUdd & TTY fae HIs ARl B T

3) Number of instructions associated with each pixelm IECSGES) \_{J}% BERIKARSEE)]
4) Number of code associated with each pixel/qw o g \_{lé Ple DI I=AT

Q 85) Which device is used to insert the expansion cards ?/QW&QF[ Eb—lé S & f%‘l'q fog
JUHT BT JUTNT fadT ST 82

1) Back of monitor/AMex & Ul P RB
2) Peripheral devices/TRYRT FYDHRUT

3) Hard disk of CPU/RITUIY &1 TS &%
4) Slots of CPU/HGIY & Tle

Q 86) Which external devices are connected to a computer system Ik STERY IUBRT
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YR REA I IS B 82
1) Expansion cards/Qaﬂ'a"Q'Ff HIS

2) Peripheral devices/TRETT STHT
3) Buses/&4
4) Slots/XIC

Q 87) Static RAM employs due to storing capacity.@% X WIS &dl &
BRI &1 IUANT =l 5

1) BIT or MOSFET/SISI! O THTUHUHS
2) FET or JFET/Utsc] 1 SlUHs el
3) Capacitor or BIT/®URICR T1 Sioid

4) BJT or MOS/SISICl O1 THITH

Q 88) Which sheet is designated for sheet size 594 x 8417 /=il 3MPR 594 x 841 & m
oA Ot 2e Afdy g2

1) A0
2) Al
3) A2
4) A3

Q 89) Which drawing instrument purpose is not served by mini drafter?/fd gT S SUDHRU
o1 3= T SR gRT R 76T foba S g2

1) Scales/ ¥ dl

2) Set square@?:' TEPRIR
3) Protractor/dTGT

4) Compass/H U

Q 90) What is other name of RAM? ?‘Tq DIUD G‘ﬁT AH =T %?

1) MRW
2) MBR
3) MAR
4) RWM

Q 91) Which command is used to display the Unix Version?/{ﬁ?\q IR DI UafRid dx- &
foTQ foper STe=T 1 ST fasaT T 52

1) uname -v
2) uname -n
3) uname -t
4) uname -s

Q 92) Which network component operates in both the physical and the data link layer?/
([ N N o\ o Ne -~ c
fOpforpd 3R SeT foids uRd Gl H I IT "cad gch HIH Bl %’?

1) Routers/RI$HCX
2) Passive hub/Afyg Bd
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3) Repeater/iima
4) Bridge/fsist

Q 93) Which layer is responsible to process delivery?/l;h@g ERNIERNED fam D I AR
forIeR 82

1) Network layer/ﬁ?a* TR

2) Transport layer@'m'l:n_cF TR
3) Session layer@'QF[ TR

4) Data link layer/SICI foid IR

Q 94) What is the size of IP address?/IP Q\%H CARSICAR EPT[%?

1) 34 bits/34 fae
2) 64 bits/64 fae
3) 16 bits/16 foe
4) 32 bits/32 fae

Q 95) Which is not a strength member used in optical cable?/3H I EaCks) JHPHd Had
A ZWHTE B a1 WY HaR gl 82

1) Germanium/STH (HgH
2) Steel wire/Td AR
3) Glass elements/TcilH Q’ﬁ‘lﬁ?
4) Aramid yarns/3RUS! BT qd

Q 96) Which of the following is the IBM Token bus?/RgfeiRad # I &1 It sseied
AH T9 82

1) IEEE 802.4
2) IEEE 802.11
3) IEEE 802.1

4) IEEE 802.10

Q 97) Which device is used to boost the signal between two cable segments or wireless

access points ?@WWmWWW$WWﬁWﬁ$W
oy SUHRUT BT ITNT foa STl &2

1) Booster/e¥cX
2) Repeater,

3) Switc
4) Router/RI3HCR

Q 98) The purpose 01; Hypertext Mark-up Language (HTML) is to create J
EIRURCRT HIH 3T oide] (HTML) T 3524 CEIBI

1) Operating system / JTRfeT Riew
2) Webpages@_d

3) Protocols/MICIhId

4) Networks/Heddh
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Q 99) Which option is used to record time of datagram processing by a router ?/T3CX gRT

ST URIRAT & THY B Reple &34 & e fea fasea o1 IuanT far Sirar g2

1) Time stamp/CISH Ty
2) Time wrap/CIgH EL|

3) Time delay/CIgH f&a
4) Time frame/CISH ﬁn‘q

Q 100) To use the internet services is required ./3 c3c Jarafi &1 SYINT HRA
& forg B SATAIHAT BIell ¢

1) Software service/AFedaR JaT

2) Internet society/3 a3
3) Internet service provider/3ex-c Wl UGIdl

s i\ o N N €
4) internet architecture board/gCX-C Hl[h IR d[S

Q 101) Which data transmission mode is used for data flow in both directions, one at a time

?2/UH IR T Th R, &I (GRSl T ST varg & o fhd Sar iR die &1 Sudi
fea ofraT 82

1) Duplex mode@'@aﬂ ors
2) Half duplex mode/3TYUT E@W s

3) Full duplex mode/YT g@?ﬂ s

4) Simplex mode

Q 102) Standard V.92 can upload data at rate of JHIFD V.92
B &R I ST IUATS PR G 5 |

1) 144 kbps
2) 33.6 kbps
3) 48 kbps
4) 56 kbps

Q 103) The devices attached to the network is referred as Aeadh ¥ @%
SUDHRN Pl & = & AT ST 5|

1) Endpoints/Q_s' 13|V'|3_C_'
2) Packets

3) Stations/ ¢

4) Links/fefd

Q 104) Which protocol is used in the Application layer?/qlﬁﬂw:f TR ¥ fohy Uicidpia
1 ST b1 &ITell 32

1) Address Resolution Protocol/&@ﬂ ﬂ“ﬁ?{-‘ﬂ:{ EICEIR]
2) AppleTalk Session Protocol/AWd Tl YR Uil

3) Communication@@[ﬁ%‘ﬂq
4) Process-to-process@@ﬂ-@-?h@ﬂ
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Q 105) What is the meaning of HTTPS ?/HTTPS &1 3{f &1 52

1) Hyper Text Transmission Protocols/8ISUR TRC EA.IFliiIQH PIEC]

2) Hyper Text Tile Protocols/gIUR RS CI$Q1 SIGIEAN
3) Hyper Text Transfer Protocol Secure/sliilaRCORC CIHLN SICIEANNRIEDIRS

4) None of these/3TH H DIS o1

Q 106) Convert the number 8 in binary form./8 AR Bl dli‘»“l(ﬂl Bid ¥ gad|

1) 1100
2) 1000
3) 1010
4)1011

Q 107) Message authentication is a service beyond /SR JHTUR RO
YW T I3

1) Message Sending/‘v-i%m VST

2) Message Integritym%sﬂ 3Rgedl

3) Message Conﬁdentlahtym ﬁ MOt
4) Message Splashlng/ﬂé'sﬂ

Q 108) Which company has designed the Data Encryption Standard Algorithm ?/fT HUAT
1 ST TP WSS TRNRYH S/ 52

1) Microsoftﬂzﬂgﬁw
2) Apple
3) IBM/

4) Intel@%ﬁ

Q 109) Which network is used for mobile phones and computers for a short-range wireless

connection?/BICI G & ATIRCN H1aRH & foTT TERd B R HHR & g farg
cdd BT IUINT 14T STl 87

1) Bluetooth/scJgY
2) EMI

3) DAMPS
4) 'DA

Q 110) Which technique is used by IEEE 802.11 standard for wireless LAN?/ARRAT o
& foTT IEEE 802.11 HM® gRI ¥ ddb-ich BT SUANT [T SITell 2

1) CDMA

2) CSMA/CA
3) ALOHA
4) TCP/IP

% 111) Which frame type contains only image data?/[H9 T UHR A dhad Bfd Sl gial
")

1) I-frames/ 3ﬂ§-a7_q

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=116 18/28



7/27/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=116

2) P-frames/d1-S5H
3) B-frames/&1- 350
4) G-frames/ST-5pH

Q 112) The purpose of firewall is to examine that are entering or leaving the
internal network ./BTIRATA BT IE T DI ITE BT 8 SN TR Jedd A
TATTAIIE &

1) Connections/@=aR

2) Updates/3[TSe

3) Emails users/8Hd SUANTHl
4) Data packets/ScT Udbc

Q 113) What technology is used to hide information inside a picmre?m TR & 3R
TSR UM & forT fbw Tob-ieb 1 U b STl 82

1) Rootkits/&cfdhe
2) Bitmapping/@? AftT
3) Steganography

4) Image Rendering/%ﬂ\_ﬂ s

Q 114) The purpose of a Denial of Service attack is f&Taa st afag gl
BT 35 g

1) Exploit a weakness in the TCP/IP stack/cTTdt / &nétﬁ % H HHSIRT &1 WBTdal 3Tl
2) To execute a Trojan on a system/&l@ 4 u® _@\_SFT I & g

3) To oversaturate the capacity of a targeted machine/fad! Sférd A=A BT &A1 HI IR
HR AT

4) To shutdown services by turning them off/3G §G B b AT B &g B Gl

Q 115) What type of symmetric key algorithm is used to encrypt information?/¥=-l Cal

TP B & (o1 forg YR & RiAfcew &t wanfad o1 Jugi fasan S 82

1) RC4

2) Blowfish/SaIThT
3) SHA
4) MD5

Q 116) What is the maximum size of Linux filenames?/feTF T WIEATH BT fUHdH
3R T Bl Hehdll 5?2

1) 8 characters/8 3{&R

2) 128 characters/128 3{&R

3) 256 characters/256 3&R

4) Unlimited characters/3THT 31&R

Q 117) The number of keys used for asymmetric-cryptography cipher:/m—m
IR & o IUTNT Y 9 aTelt Y (BB -—- Bl B

1) 1 Key
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2) 2 Keys
3) 3 Keys
4) 4 Keys
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Q 118) Which agency is a technical foundation of Internet 2/ It TSIl SexAC Bl
qbITopT YR &7

1) ARPANET/3RUME
2) NSF/TTHUH

3) NSA/UUITY

4) SAF/THIT

NN v

ICIh I TAXh U]

Q 119) What is the address length of internet protocol version 4. /éCQ'?IC

41 TY TaTS FT 82

1) 64 bits/64 fae
2) 16 bits/16 fae
3) 32 bits/32 fae
4 128 bits/128 fae

Q 120) standard specification is used for Ethernetfscﬂ AT ﬁ*I'Q
A [AFE &1 IuanT fovan S g |

1) IEEE 802.1
2) IEEE 802.6
3) IEEE 802.3
4) IEEE 802.5

ILevel 1 Answer key
1(\:;(1)1.esti0n Option 1(\?(l)l.estion Option 1(3(1)1‘estion Option 1(3(1)1‘estion Option
1 2 31 1 61 1 91 1
2 3 32 4 62 1 92 4
3 2 33 2 63 1 93 2
4 3 34 4 64 2 94 4
5 3 35 1 65 2 95 1
6 2 36 3 66 1 96 1
7 3 37 4 67 3 97 2
8 4 38 3 68 1 98 2
9 3 39 2 69 3 99 1
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10 1 40 4 70 4 100
11 3 41 2 71 1 101
12 3 42 2 72 2 102
13 3 43 2 73 4 103
14 2 44 1 74 2 104
15 3 45 2 75 1 105
16 4 46 2 76 4 106
17 1 47 1 77 4 107
18 4 48 2 78 1 108
19 3 49 1 79 2 109
20 2 50 2 80 1 110
21 2 51 2 81 2 111
22 1 52 1 82 1 112
23 3 53 3 83 2 113
24 2 54 2 84 1 114
25 3 55 4 85 4 115
26 4 56 1 86 2 116
27 2 57 3 87 4 117
28 4 58 3 88 2 118
29 2 59 1 89 4 119
30 3 60 2 90 4 120

Compter Network Assistant code Level 2

Q 1) Which of these forms of memory needs uninterrupted power to maintain the stored

data? \GUBId ST ! §9TT W& & forg AAR) & 377 Ul 7 T frd ey Ioil &) sexd

gt 82
1) Hard Disk\8TS &%

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=116

21/28



7/27/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=116

2) ROM\ROM
3) RAM\RAM

4) Removable Disk\Rddd f$xh
Q2)Javaisa level language.\SITdT TUdh TR HTST %

1) low\Fg
2) mid\Aed
3) high'3=

4) modem\&ﬂw
Q 3) Ctrl +Z is shortcut for A\Ctrl +Z & ﬁm che %

1) save
2) close
3) undo
4) new

Q 4) Single bit of data is recorded in:\RITTS foe o1 ST g foran Sira %’ T,

1) register\X foTEeR
2) capacitor\w
3) encoder\Q;|$- IS

4) flip flop\ToTT TAiTg

Q 5) Ipv4 protocol uses how many bits to represent an IP adress?\IP E@F P G & fam
Ipva MABId | fordq fe &1 3%wra foran a2

)15
2) 31
3) 32
4) 63

Q 6) The network security system that protects a computer from unauthorised access?

\Aead TR&T TUTTeH S gex & A% d Ugd I YR Tl 82

1) Trojan\@ﬁl:f

2) Antivirus\UCIaRIRY
3) Firewal\(PTORAIAl
4) TCP\TCP

Q 7) The first octet of Class C IP address has its first 3 bits set to:\J0fT C & 1P Q%F & g
3fidee & Ugd 3 fie 370 @ fraw de fFa wa &

1) 000
2) 001
3)111
4) 110

Q 8) Where does addition and subtraction of data take place in a computer?\m Cra
BT SIS 3R UeTd Hel gldT 82
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1) Memory Unit\ @R Ea?lé

2) ALUNALU
3) Control Unit\ﬁ,\ﬁ Zl‘ﬁl?f
4) Hard Disk\gTS fS%&®

Q 9) Which layer of the TCP\IP protocol architecture is responsible for addressing,
ANV oC SN iV
packaging and routing the data packets?\ TCP\IP U[C[dTcT Tcp Cd=lR P! DI I IRd Sc

Udhe bl TR, UpTolTT 3R w7 & forw foer 82

1) Internet layer\§c e IRd
2) Network layer\w d

3) Transport 121ye:r\§'m'l:h_<.F ud
4) Application layer\m Wd

Q 10) What command is used to force stop a command when nothing else works?/ Udh
m?ﬁﬁwmﬁ%ﬁﬁﬁmwmmw%ww 't e =16t
hXdlB?

1) Ctrl + C
2)Ctrl +Z
3)Ctrl + X
4) Ctrl + A

Q 11) Term that refers to infinite no. of values in range is/ dg R[eq EIESE 3?1%? 3Hd

1) Digital Signal/ ffored R
2) Analog Signal/ TATeINI e
3) Peak/ BiEY

4) None of these/ R EIERE

Q12) %Application layer provides basis for/ TRITH R TR & fou SmeR U™
|

1) Email services/ gﬂﬁ T

2) Frame Division/ Y faueH
3) File Making/ BT3d Hfd T

4) None of these/ 3_'{3[ | aﬂ's“ gl

Q 13) Layer that are used to deal with mechanical and electrical specifications are/ gif®

gd fafc=n & ATy g & fore ITNT &1 oA arel TR 2l

1) Physical Layer/ ot e R
2) Data Link Layer/ SICI foid TR
3) Network Layer/ Fead AR

4) Transport Layer/ @HCﬁ‘cc aR

Q 14) Extra bit in modem is used for/ ared H Sffafad foe & fore AT gt %|
1) Error correction/ ﬁ_cpf BSRILE]
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2) Error detection/ _a'l% RNCE
3) Noise/

4) Distortion/ fauu

Q 15) A packet filter firewall filters at the/ Y e fheex HraRdld IR fiheex
e

1) Application or transport/ Q'l?ﬁw:f q1 E:Iﬂ'cné

2) Data link layer/ SICI foid TR

3) Physical Layer/ fhforpa aaR

4) Network or transport layer/ Jead a1 ‘r;mlﬂf R

Q 16) Addresses of classes A, B and C are/ A, B 3R C Pt %Qgﬂ%-

1) Multicast/ HecIhRE
2) Reserved/ frores

3) Unicast/ W

4) All of these/ T T

Q 17) In File Transfer Protocol (FTP), a user needs an account (user name) and a password
on the/ WTSd IR UICTId (FTP) H, Teh oR Bl R Ueh 3BI3C (GoR -H)
3R UGS P SATa=T bl Sl ¢

1) Same server/ HIH TR

2) Remote server/ MW
3) Central server/ ST TR
4) Data host/ SICI B

Q 18) Establishing a session in Session Initiation Protocol (SIP), requires a three-way/ I

SAREEE Uicia d (TR H U6 8 & RO & [, TG dF-akg b Bl
AT 81T B

1) Protocols/ TeIdpIc
2) System/ Req

3) Ports/ tﬁﬁ

4) Handshake/ m
Q 19) What is another term for packet capture?/ e PR & fa R e T %‘?

1) Discrete sniffing/ feghic Hifth
2) Packet sniffing/ e Sifth
. c a
3) Quantized capture/ BICIQVIS HR
i\ A C A [N J
4) There is no alternate term for it/ QTP i%IQ Phlg dh[cUd Jeq :|T3°[%

Q 20) is an automated procedure of sending (ICMP) echo requests (also known as
PINGs) to a range of IP addresses and recording replies. This can enable an attacker to map

your network./ IP Q@jﬁ PIIS B (ICMP) Eﬁ Yo (ﬁﬂﬁ g &
1) Port Scan/ O W
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2) Ping Sweep/ U iy
3) SYN Flooding/ SYN Tif&

4) Packet sniffing/ Tpe Fifth

Q 21) Firewall architectures do not include which of the following? / TIRAld SHTfdheaer

# e & 9§ o =nfe 16T 6

1) Packet-filtering firewall/ U e-fheeaT HraRard
2) Entry-level firewall/ Q_,C\P[-adﬂ TRl

3) Circuit-level gateway/ gfthe-daa ed

4) Application-level gateway/ T IhRH-tad Tied

Q 22) Cryptographic hash function takes an arbitrary block of data and returns/ W"JTW
TaRI S1eT &I ThUea b A g IR III &l g

1) Fixed size bit string/ Rﬂ's‘ PR P fae @TT

2) Variable size bit string/ ORad-g 3TPR a%‘r E %T

3) Both fixed size bit string and variable size bit string/ RIT&F 3THR &1 foc %”T 3R
uRad-a PR &t foe ’RET Al gt

4) None of these/ 3"_'“}[ I fbﬁé '_'|—Eﬂ

Q 23) Which table is used for the list of active connections maintained by stateful firewall?/

WHd BRIRAI gRT HIIH I T ihd dHaRH! &1 it o e fbq arferest o1
IUANT foaT SITdT 82

1) Routing table/RTCT dTfeTeh
2) Bridging table/fSIfSiTT ATferahT
3) State table/XCT TICTDI

4) Connection table/@ =GR TICTIPT

Q 24) Cable is covered with an outer plastic sheath to reduce /hEd B
HH B & 0 T8 ke & MR F 1Y HaR (a7 S B

1) Armor/ddd

2) Heat/3®™HI[
3) Abrasion/gyuT
4) Dispersion/'a”ﬁﬂa

Q 25) A client can directly connect to a server using in HTTP./U% FilgC ey
HTTP ¥ BT IR P IR I IS JHT ¢ |

1) Web-based connection/dq STYTRT H-aRH
2) Domain/SIH4

3) TELNET/C@C

4) Linear Connection/@ AR BRI

Q 26) Which mode is used to transmit computer data from one place to another?/

ST P! TH WY U TR M R N & ot {59 A &1 ST fasan irar g2
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1) Transmission mode@'mm:f e
2) Transfer mode/CTAHR s

3) Sending modeT TS AL

4) Receiving mode/RIIAT AIE

Q 27) In Modem, Extra bit is used for [ATSH ff, 3ifafad fae &1 3T
& o fopar ST 3|

1) Error correction/ ATl T JYUR
2) Error detection/ATeTd! g

3) Noise/RMR

4) Distortion/fax=UidR0r

Q 28) Which frame is used to complete entries in switching tables?/RafeRT diferarafi &
ufafdal & Q1 HA o for Thd 61 ST foran STt 82

1) Acknowledgment frame/QaT"I}Ia\_rlﬁ_d HH
2) Setup frame/A 3T T

3) Routing frame/ =T e
4) None of these/_{'Tﬁ[ I a?rﬁ '_ﬁﬂ

Q 29) Which information can be added to the video data stream?/A1T Sl ST Qﬂ’q o
SSRGS o Geball 52

1) Model number /ATSd e

2) Encrypted watermarks/Qf<h P8 CIRGIED
3) Lighting conditions/YTR[ ARSI

4) Model type /ATEd UHR

Q 30) Which conversion is done for obtaining the speech signal ?/Tg RiTd Ui 3 &
EN .
fo 1 A1 S uiavor fasar S g2

1) Analog to digital conversion/TATAN ¥ f$foled = aiarur
2) Digital to analog conversion/fSfored & 'J,"IIQ'1T‘I Y R
3) Modulation/HT

4) Quantization

Q 31) The purpose of ‘mapfile’ command is to J iNUr>I‘$Q'1 HHIS BT d%'(-‘lbl
gl

1) Read lines from standard input into an indexed array variable./ LSS Rt | 5\%0}%5 QB\f
aRkuad H Al I U

2) Reads lines of standard output file/ TS 313 cYcC Igd G4l Q1I$:I. Ul

3) Reads lines of standard error ﬁle/@SSp U higd P Q’1I$:I' Ul

4) Reads lines of codes [PTS DI AT Yol

Q 32%) Which security attack is not an active attack?@:f T Y&l g HAT Uh Tferg BHAl
a1 87
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1) Masquerade /XA

2) Modification of messages el # g
3) Traffic analysis /%W ICESLLI

4) Denial of Service/f$ATd 311w Tfaq
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Level 2 Answer key

Question No. | Option Question No. | Option
1 3 31 1
2 2 32 3
3 3

4 4

5 3

6 3

7 4

8 2

9 1

10 2

11 2

12 1

13 1

14 2

15 4

16 3

17 2

18 4

19 2

20 2

21 2
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22 1
23 3
24 3
25 3
26 1
27 2
28 1
29 2
30 2
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